
4. Tutorium VU Quantentheorie I, 05.11.2010 –
Lösungen

Beispiel 1

a

Ψ𝐸(𝑥) = 𝜃(−𝑥)

[︂
𝑒𝑖𝑘𝑥 +

𝑖𝐷

𝑘 − 𝑖𝐷
𝑒−𝑖𝑘𝑥

]︂
+ 𝜃(𝑥)

[︂
𝑘

𝑘 − 𝑖𝐷
𝑒𝑖𝑘𝑥

]︂
, 𝑘 =

√︂
2𝑚𝐸

~2

b

𝑗𝐼(0) = 𝑗𝐼𝐼(0), da : 𝑗(𝑥) = 𝑗 =
~𝑘
𝑚

𝑘2

𝑘2 + 𝐷2

c

𝑗ein =
~𝑘
𝑚

, 𝑗ref =
𝐷2

𝑘2 + 𝐷2

~𝑘
𝑚

, 𝑗trans = 𝑗𝐼 = 𝑗𝐼𝐼 =
𝑘2

𝑘2 + 𝐷2

~𝑘
𝑚

⇒ 𝑗ref + 𝑗trans = 𝑗ein

d

𝑇 =
𝑘2

𝑘2 + 𝐷2

|𝐷| ≪ 𝑘 ⇒ 𝑇 → 1 − 𝐷2

𝑘2
≈ 1

|𝐷| ≫ 𝑘 ⇒ 𝑇 → 𝑘2

𝐷2
≪ 1

lim
𝐷→∞

𝑇 (𝐷; 𝑘) = 0

e

Ψ𝐸(𝑥) = 𝜃(−𝑥)

[︂
𝑒𝑖𝑘𝑥 +

𝑖𝐷

𝑘 − 𝑖𝐷
𝑒−𝑖𝑘𝑥

]︂
+𝜃(𝑥)

[︂
𝑘

𝑘 − 𝑖𝐷
𝑒𝑖𝑘𝑥

]︂
= 𝑒𝑖𝑘𝑥+

𝑖𝐷

𝑘 − 𝑖𝐷
𝑒𝑖𝑘|𝑥|

𝑘Pol = 𝑖𝐷 ⇒ 𝐸geb = −~2𝐷2

2𝑚
=

~2𝑘2
Pol

2𝑚



Beispiel 2

b

𝑇 =
1

5 − 4 sin 4𝐷𝑎

c

𝑅 = 1 − 𝑇

d

𝑇max = 1 wenn 4𝐷𝑎 =
𝜋

2
+ 2𝑛𝜋, 𝑛 ∈ N

𝑇min =
1

9
wenn 4𝐷𝑎 =

3𝜋

2
+ 2𝑛𝜋, 𝑛 ∈ N


	
	
	
	
	
	
	
	

